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logarithm. V , Vy-Daten uy=(A — 550) / 502 logarithm. V , Vo-Daten uy=(A — 550) / 502 logarithm. V , Vo-Daten uy=(A — 550) / 502 logarithm. V , Vy-Daten uy=(A — 550) / 502
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Adaptation: A, =557 log [Vo, V , Mg, Lo] Adaptation: A, =557 log [Vo, V , Mg, Lo] Adaptation: A, =557 log [Vo, V, Mg, Lo] Adaptation: A, =557
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, -Daten uy=(A — 550) / 502 ithm. , -Daten uy=(A — 550) / 502 ithm. , -Daten uy=(A — 550) / 502 ithm. ., -Daten uy=(A — 550) / 502
=(logLo*log )/2 logLo = -0 35[.1)\—U570] =(logLo+log )/2 logLo = —0,35l)\~Us7] =(logLo+log )/2 logL, = -0, 35[.1)\—U570] =(logLo+log )/2 loglLo = —0,35u)\~ u57o]
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